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A 8 B.7 C.6 D.9

2. B B [(x+3y)2(x=3y)°]°% it fi > P v 38 e
A. 3 B. 5 C.6 D. 7

3. % M txen XCHAXN=0:n5 1 i B o 0 BineniE %5
A. -12 B. 12 C.10 D. 10

4. £b<0 » PI[1-4°F vz v %
Al B.4°-1 C.1-4° D. 4"

5. ¢ 4Bl xeh? & 5 -ax+a>0:niz b 5 R plashB @ F L
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A. (0,4) B. [2, +0) C.[0,2) D.(~0,0)U(4, +0)  E. [0,2]
6. ¢ seaniic f(x)=logy(ax+b) » = f(2)=2 f(3)=3 B

A. a=1,b=-4 B.a=2, b=-2 C.a=4, h=3 D.a=4,bh=-4 E.a=3, h=-2
7. 2% 0 Bey=2ax’+(@-1)x+3 5_is S fic 0 PlaZ

A. -1 B. 0 C.1 D.2 E. -2
8. 3"=a, 3¥1=ph, p3"=

A. ab B. a+b C. 3at+b D. 3ab E. 3b+a
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A. 264 B. 781% C. 15646 D.169f6  E. 12546
10. i‘;‘ﬁifq{an} P Sha H a0 g ‘ff' ’ %84237"'3 » Sg=agtag-3 » A {an}z'ﬁz? £dE
A -1 B.1 C.3 D. -3 E. -2

11, & oopFfl F - 235 B B8R(-2,0) > (2, 0)inpEdr2 fo% 306 > B FR e 5
A. 10 B.5 C. 2V5 D.V5 E. ot gzt
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A 171 B.21i® C.201® D. 161 E. 19
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A. -297 B. -252 C. 297 D. 207 E. 252

14. 7 % ;% |2X+4|<6:f% 5

A. x>-5 B. x<1 C. -5<xx1
D. 0<x<1 E. x<-5
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Part | Multiple choice questions. Choose the best answer for each question.
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. For the set {a, b, c}, the number of proper subsets is
A 8 B. 7 C.6 D.9 E. none of the above

. Expand and simplify the expression [(x+3y)?(x-3y)?]?, the number of its terms will be
A. 3 B. 5 C.6 D.7 E.8

. For the equation x?+4x+n=0, the sum of the reciprocal of its two roots is % Then n equals
A. -12 B.12 C.10 D.-10 E.-8

. If b<0, the expression |1-4°| can be simplified to be

Al B.4°-1 C.1-4° D. 4° E. none of the above

. If the solution set of the inequality x*-ax+a>0 is R, the range of a is
A. (0,4) B. [2, +00) C.[0,2) D. (~0,0)U(4, +00) E.[0,2]

. For f (x)=logz(ax+b), if f (2)=2, f (3)=3, then

A. a=1,b=-4 B.a=2, b=-2 C.a=4, b=3 D.a=4,b=-4 E.a=3, b=-2

. If y=2ax?*+(a-1)x+3 is an even function, a equals
A -1 B. 0 C.1 D.2 E. -2

 1f 3*1=q, 3 '=h, 3=
A. ab B. a+b C. 3at+b D. 3ab E. 3b+a

. Choose one positive leader and one deputy leader from 13 students, the different choice you will have is
A. 26 B. 78 C. 156 D. 169 E. 125
Let S be the n-th partial sum of an arithmetic sequence{a,}. If S4=a;+3, Ss=ag+ag-3, the difference d is
A. -1 B.1 C.3 D.-3 E.-2
If the sum of the distance of some point on the ellipse with two foci (-2,0), (2,0) is 6, the length of the
minor axis is
A. 10 B.5 C.2v5 D.V5 E. none of the above
Choose two different numbers from the set {1,2,3,4,7,9}as base and antilogarithm, how many logarithm

with different value would you have?
A. 17 B.21 C.20 D. 16 E. 19



13. Expanding the expression (1-x%)(1+x)™, the coefficient of x° is
A. -297 B. -252 C. 297 D. 207 E. 252

14. The solution of the inequality [2x+4|<6 is
A. x>-5 B.x<1 C. -5<x<l1 D.0<x<1 E.x<-5

15. If sindxcosbx= —cos4xsin5x, the angle x may be
A. 10° B.20° C.50° D. 70° E.none of the above



¥ -4 j2E 48 - Partll Problem-solving questions.
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(@) fiz= Bap? 105 - BE S (4 =)
(b) izz= Bak? 2§ 5 - Blashepms o 4 »)
There are 7 red balls and 3 yellow balls in a bag. Choose any 3 balls from the bag,

(a) Find the probability that at least one yellow ball is chosen. (4 marks)
(b) Find the probability that at most one red ball is chosen. (4 marks)

2. % FemBrim E P 0 B XA ABCHM —2)X —(M+3)=0:h5 13T 5 fogo | 2 # M) & o

For which value of m, the sum of the square of two roots of the equation x?+(m —2)x —(m+3)=0 would
be minimal? Please find the minimum. (8 marks)

3. @ 403 My=x+miE Pebe My*=2x4p 2 3TA - BA B0 FREABP Bhenf L4 520 Kminig o
(877)

The line y=x+m and the parabola y>=2x intersect at point A and B. If the x-coordinate of the middle point
of the line segment AB is 2, find the value of m. (8 marks)

4. v FoE Q;;;lj{an}:‘ a>0 0 ot Q’«EIL—' ﬁiX(X+1):6é’f”%€' » B {an}gh'r;ﬁ 438 ‘514[’\784:1 o
(@ H&=iqge (4 =)
(b) A{a.} e 838 eirfe o (4 »)

In a geometric sequence {a,},-1, a»>0, the common ratio q is one root of the equation x(x+1)=6, the
partial sum S;=1.

(a) Find q. (4 marks)
(b) Find the partial sum Sg . (4 marks)
5. %1 & Alcn>1 o w2 (n+1)%eh+ o) > 3 B B2 P R enigis o (8 )

For all positive integer n, compare 2" with (n+1)2. Which is bigger? Prove your statement by
mathematical induction. (8 marks)



